

# **FOREST PARK DOWNTOWN STREETSCAPE** PHASE 2A - MAIN STREET PROJECT NO.: 05192022P.I.#0007949

Date of Issuance: AUGUST 16, 2023 Effective Date: August 16, 2023

Owner: CITY OF FOREST PARK, GEORGIA Owner's Contract No.: 05192022P.I.#0007949

Project: 2023 LMIG PROGRAM Notice to Proceed: SEPTEMBER 12, 2022

Contractor: BRTU CONSTRUCTION, INC Engineer's Project No.: N/A

#### The Contract Documents are modified as follows upon execution of this Change Order:

Description: ADDITIONAL ITEMS DECLIDED BY THE DROJECT DUE TO LINEODESEEN EXISTING K

~	TIONS AND ADDITIONAL WOR
	RUCTION".
CHANGE IN CONTRA	ACT TIMES:
Original Contract Times: Substantial completion da	•
Ready for final payment of	•
e Change from previously a No.: N/A	approved Change Orders
Substantial completion Ready for final paymen	` 2 /
•	nis Change Order: days: 210Calendar days
Ready for final paymen	t days: 240 Calendar days
Substantial completion	c Change for this Change Order: (days or date): <b>SEPT. 15, 2023</b> t (days or date): <b>SEPT. 30, 2023</b>
	pproved Change Orders: (days or date): <b>SEPT. 15, 2023</b> t (days or date): <b>SEPT. 30, 2023</b>
, ,	ACCEPTED:
D	D
	eg change): RDERS FROM "BRTU CONSTECTION CHANGE IN CONTRATE Original Contract Times: Substantial completion date Ready for final payment of the Change from previously at No.: N/A Substantial completion Ready for final payment of the Substantial completion Ready for final payment Additional Contract Times Substantial completion Ready for final payment Contract Times with all at Substantial completion Ready for final payment Contract Times with all at Substantial completion Ready for final payment Contract Times with all at Substantial completion Ready for final payment Contract Times with all at Substantial completion Ready for final payment ACCEPTED:

Falcon Design Consultants, LLC City Of Forest Park, Ga BRTU Construction, Inc Date: <u>AUGUST 16, 2023</u> Date: Date:

# **Change Order**

**Instructions** 

#### A. GENERAL INFORMATION

This document was developed to provide a uniform format for handling contract changes that affect Contract Price or Contract Times. Changes that have been initiated by a Work Change Directive must be incorporated into a subsequent Change Order if they affect Price or Times.

Changes that affect Contract Price or Contract Times should be promptly covered by a Change Order. The practice of accumulating Change Orders to reduce the administrative burden may lead to unnecessary disputes.

If Milestones have been listed in the Agreement, any effect of a Change Order thereon should be addressed.

For supplemental instructions and minor changes not involving a change in the Contract Price or Contract Times, a Field Order should be used.

#### B. COMPLETING THE CHANGE ORDER FORM

Engineer normally initiates the form, including a description of the changes involved and attachments based upon documents and proposals submitted by Contractor, or requests from Owner, or both.

Once Engineer has completed and signed the form, all copies should be sent to Owner or Contractor for approval, depending on whether the Change Order is a true order to the Contractor or the formalization of a negotiated agreement for a previously performed change. After approval by one contracting party, all copies should be sent to the other party for approval. Engineer should make distribution of executed copies after approval by both parties.

If a change only applies to price or to times, cross out the part of the tabulation that does not apply.



October 3, 2022

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: Forest Park Downtown Streetscape Project

Subject. Change Proposal #1: Concrete Curb & Gutter 6x24 Type 2

Dear Skip,

BRTU Construction is hereby proposing cost for installation of Concrete Curb and Gutter per your instruction in response to RFI#1.

Our cost proposal below includes Material, Labor, Equipment and all necessary supervision to complete the curb and gutter per plan and specification.

Item #	Description	Qty	Unit	Unit Price	TOTAL
1	Installation of Concrete Curb & Gutter, GDOT 6x24, Type 2	3700	LF	\$36.5	\$135,050.00
				Total	\$135,050.00

Sincerely Yours,

Sintayehu Areda

President



Novemebr 8, 2022

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: Forest Park Downtown Streetscape Project

Subject. Change Proposal #2: Unsuitable subgrade replacement from Sta 21+45 L

Dear Skip,

BRTU Construction is hereby proposing cost for removal of unsuitable subgrade soil from under Curb & Gutter and sidewalk starting from approximate station 21+45 based upon geotechnical investigation and recommendation of the testing company (Please see attached report).

Our cost proposal below includes Material, Labor, Equipment, and all necessary supervision to complete the activities listed.

Item #	Description	Qty	Unit	Unit Price	TOTAL			
1	Cut and remove all excess unsuitable subgrade soil.	48	CY	\$25.00	\$1,200.00			
2	Surge-stone between stations 21+40 & 22+40 L	90	Ton	\$48.00	\$4,320.00			
3	No. 57 stone	18	ton	\$46.00	\$828.00			
3	Extra GAB	4	ton	\$42.00	\$168.00			
				Subtotal	\$6,516.00			
	O&P (15%)							
				TOTAL	\$7,493.40			

I appreciate your prompt approval

Sincerely Yours,

Sintayehu Areda

President

Encl.: Geotechnical report and recommendation (1 page)



# CONSTRUCTION MATERIALS SERVICES, INC. 105 Park 42 Drive Suite A; Locust Grove, GA 30248-2545

Phone: (770) 914-1744 Fax: (770) 914-0412

Email: info@cmsnatl.com

Geotechnical Engineering - Materials Testing - Asphalt Mix Design - Soil Surveys - Environmental

November 8, 2022

BRTU Construction 6105 Lees Mill Rd Forest Park, GA 30297

Attention:

Sintayehu Areda

Subject:

Forest Park Streetscapes Soils Issues – Curb & Gutter and Sidewalk

Dear Mr. Areda,

On November 8, 2022, Jerrell Welch, Field Technician Manager with CMS, arrived on site to address the unstable soils under the curb & gutter and a portion of the sidewalk on the north side of Main Street starting at Sta 21+45 and continuing to Sta 22+40. Remove and replace the unsuitable soils "excessive organics" under the curb & gutter and the sidewalk area approximately 3.5' in depth. For this deep repair area compact soil, place a layer of heavy geotextile woven fabric, eighteen (18) inches of baby surge stone, choke off with a layer of #57 stone, and complete to grade with the typical section. The surge stone layer shall be placed in 6 inch lifts and consolidated "keyed in" with a jumping jack tamper.

Beginning at Sta 22+40 and continuing up Phillips Drive to the first utility pole no the north side, remove an additional six (6) inches of soil under the curb and gutter, compact bottom, and replace with six (6) inches of compacted GAB over a heavy duty woven geotextile fabric.

If you have any questions, please telephone us at: (770) 914-1744 or via email.

Respectfully submitted,

Andrew Johnson, P.E.

NO. PERZISSINALL AGINEEN

S:\ATLANTA\CMS Lab\GENERAL TESTING - MATERIAL TESTING\2022\22128 Forest Fack Streetscape (BRTU Construction)\Report = Unsuitables - 11-8-22.doc



December 21, 2022

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: <u>Forest Park Downtown Streetscape Project</u>

Subject. Change Proposal #3: Overall site modification per drawings provided on 12/08/2022

Dear Skip,

As you know, the subject project was modified with a revised drawing dated 12/08/22 and the changes affected some completed work as well as remaining items under construction. The changes include but not limited to: changing pedestrian pavers to Aprons, extending sidewalks beyond previous project limits, etc.

Accordingly, BRTU Construction is hereby submitting cost proposal for these sitewide modifications. Below is a summary of breakdown of costs associated to the change

Item #	Description	Qty	Unit	Unit Price	TOTAL
1	Remove, haul off and discard curb and gutter	550	LF	\$18.00	\$9,900.00
2	Install New Curb & Gutter with Apron	550	LF	\$36.50	\$20,075.00
3	Expense associated to paver material supply changes, stocking fee etc.	1	LS	\$21,595	\$21,595.00
4	Other Miscellaneous changes such as Catch basins	1	LS	\$7,800.00	7,800.00
5	Extended Performance Cost for 60 extra days (see attached breakdown of costs for extended performance)	1	LS	\$94,940.00	\$94,940.00
				Subtotal	\$154,310.00
	\$23,146.5				
	\$177,456.5				

We hereby request additional time extension of 60 days for these scope modifications.

We appreciate your prompt approval

Sincerely Yours,

Sintayehu Areda

Encl: Breakdown of Extended performance costs (1 page), and Revised Schedule of Values (2 Pages)

# **COST BREAKDOWN OF EXTENDED PERFORMANCE COSTS (Attachment to CP#3)**

## **Traffic ctrl & Erosion Ctrl**

Line					TOTAL
No	DESCRIPTION	UNIT	QTY.	UNIT COST	AMOUNT
1	Traffic control devices (drums, vertical pannels, etc)	Mo	2.00	3,500.00	7,000.00
	Two men traffic control crew for Setting up traffic				
	ctrl devices and maintaining - 8 hrs/day - 5 days a				
2	week	Man-Hrs	720.00	35.00	25,200.00
3	Water Quality Inspection	MO	2.00	495.00	990.00
				subtotal	33,190.00

## **Project Management & Other time related expenses**

Line							
No	DESCRIPTION	UNIT	QTY.	U	NIT COST   TOTAL		TAL AMOUNT
3	Project Manager - 33% input	MO	1.00	\$	12,000.00	\$	12,000.00
4	Superintendent	MO	2.00	\$	8,350.00	\$	16,700.00
5	Project/Office Engineer - 50% input	MO	1.00	\$	8,350.00	\$	8,350.00
6	Safety and traffic control manager - 25% input	MO	0.50	\$	10,000.00	\$	5,000.00
7	Transportation - Management	VEH-MO	5.50	\$	3,000.00	\$	16,500.00
10	Additional Land Surveying services	LS	1.00	\$	3,200.00	\$	3,200.00
			Sul	otota	ıl	\$	61,750.00
			Total			\$	94,940.00

# **REVISED SCHEDULE OF VALUE DEC-2022**

ITEM	DESCRIPTION OF WORK	QUANTITY	UNIT	UNIT PRICE		SCHEDULED
NO.						VALUE
1	BONDS, INSURANCE	1.00	LS	\$ 52,149.00	\$	52,149.00
2	TRAFFIC CONTROL	1.00	LS	\$ 88,000.00	\$	88,000.00
	MOBILIZATION	1.00	LS	\$ 383,605.00	\$	383,605.00
	SITE GRADING COMPLETE; INCLUDING BUT NOT LIMITED TO GRADING,					
	DEMOLITION AND MATCHING EXISTING UTILITIES	1.00	LS	\$ 127,868.00	_	127,868.00
	TEMPORARY GRASSING	1	AC	\$ 1,000.00	_	1,000.00
	MULCH – WHEAT STRAW	1	TON	\$ 1,000.00	_	1,000.00
	CONSTRUCTION EXIT	2	EA	\$ 3,000.00	_	6,000.00
	INLET SEDIMENT TRAP: INSTALLATION, MAINTENANCE AND REMOVAL TEMPORARY TYPE "C" SILT FENCE: INSTALLATION, MAINTENANCE AND	4100	EA LF	\$ 350.00 \$ 3.30	_	2,100.00 13,530.00
	WATER QUALITY MONITORING AND SAMPLING	4100	EA	\$ 220.00	_	880.00
-	WATER QUALITY INSPECTION	8	MO	\$ 495.00	_	3,960.00
	GRADED AGGREGATE BASE	1190		\$ 37.18	_	44,244.20
	MATERIAL AND "H LIME	150		\$ 325.96	_	48,894.00
	RECYCLED CONCRETE LEVELING, INCLUDING BITUMINOUS MATERIAL AND	5000	SY	\$ 5.64	_	28,200.00
	1.5" RECYCLED ASPHALT CONCRETE 12.5 MM SUPERPAVE, GP 2 ONLY,			· · · · · · · · · · · · · · · · · · ·	Ť	
	INCLUDING BITUMINOUS MATERIAL AND "H" LIME	5000	SY	\$ 19.18	\$	95,900.00
16	2" RECYCLED ASPHALT CONCRETE 19.0 MM SUPERPAVE, GP 1 OR 2,					
10	INCLUDING BITUMINOUS MATERIAL AND "H" LIME	0	SY	\$ 22.43	\$	-
	BITUMINOUS TACK COAT	500	GL	\$ 4.70	_	2,350.00
	MILL ASPHALT CONCRETE PAVEMENT, VARYING DEPTH	5000	SY	\$ 6.73	_	33,650.00
	CLASS "A" CONCRETE, BASE OF PAVEMENT WIDENING	225	CY	\$ 302.50		68,062.50
	ADJUST DROP INLET TO GRADE	4	EA	\$ 2,000.00		8,000.00
	RECONSTRUCT JUNCTION BOX	4	EA	\$ 6,000.00	_	24,000.00
	GRADED AGGREGATE BASE COURSE, 6" INCLUDING MATL.  GRADED AGGREGATE BASE COURSE, 8" INCLUDING MATL.	396.75	TN TN	\$ 37.18 \$ 37.18	_	14,751.17
	6" THICK 3000 PSI CLASS "A" CONCRETE DRIVEWAY; INCLUDING BUT NOT	0	IIN	\$ 37.18	\$	<u>-</u>
	LIMITED TO COMPACTION OF SUBGRADE, FORMING AND FINISHING (LIGHT					
	BROOM)	1040	SY	\$ 80.00	\$	83,200.00
	LIMITED TO COMPACTION OF SUBGRADE, FORMING AND FINISHING (LIGHT	1040	O i	Ψ 00.00	Ψ	03,200.00
	BROOM)	40	SY	\$ 75.00	\$	3,000.00
	GDOT GAB BASE UNDER CURB & GUTTER; MIN. 8" THICK x 30" WIDE;				Ť	,
	COMPLETE INCLUDING COMPACTION AND GRADING	4100	LF	\$ 5.51	\$	22,591.00
27	LIMITED TO COMPACTION OF GDOT GAB AND SUBGRADE, SAND SETTING					
	BED AND EDGE RESTRAINT	375	SF	\$ 38.50	\$	14,437.50
	IMPERVIOUS BRICK PEDESTRIAN RATED PAVER; INCLUDING BUT NOT					
	LIMITED TO COMPACTION OF GDOT GAB AND SUBGRADE, SAND SETTING					
	BED AND EDGE RESTRAINT	8200	SF	\$ 22.00	\$	180,400.00
	IMPERVIOUS VEHICULAR RATED BRICK PAVER; INCLUDING BUT NOT					
	LIMITED TO COMPACTION OF GDOT GAB AND SUBGRADE, SAND SETTING	5000	05	ф 00.0 <b>г</b>		125 150 00
	BED AND EDGE RESTRAINT	5800	SF	\$ 23.65	\$	137,170.00
	6" 3000 PSI CONCRETE HEADER CURB 2"-24" DEPTH; INCLUDING BUT NOT LIMITED TO COMPACTION OF GDOT GAB AND SUBGRADE	4100	LF	\$ 27.50	¢	112 750 00
	SAW JOINTS IN EXISTING PAVEMENT	300	LF	\$ 10.00	_	112,750.00 3,000.00
	STAMPED ASPHALT	1000	SF	\$ 15.00		15,000.00
	1/4" STEEL WELDED HANDRAIL; INSTALLED INCLUDING BUT NOT LIMITED TO	.000	<u>.</u>	ψ .σ.σσ	Ψ	15,000.00
	ANCHORING, AND PREPARATION OF BEARING AREAS	0	LF	\$ 77.00	\$	_
	·				Ť	
	CONCRETE SEGMENTAL RETAINING WALL INSTALLED COMPLETE					
34	(INCLUDING BUT NOT LIMITED TO: EXCAVATION, GEOTEXTILES, DRAINAGE					
	SYSTEMS AND THEIR CONNECTIONS TO STORM SEWERS, AGGREGATE					
	MATERIALS, BACKFILL, ADHESIVES, AND RELATED APPURTENANCES)	0		\$ 1,000.00		-
	CONCRETE REINFORCEMENT STEEL; BAR	0		\$ 5.00	_	-
	WATERPROOFING	8	SY	\$ 50.00		400.00
	DEMO EXISTING RETAINING WALL	1 1 1 7 1 7 1	LS	\$ 1,000.00		1,000.00
	DIRECTIONAL BORING FOR ELECTRICAL CONDUIT	450	LF	\$ 1.00	_	450.00
	ELECTRICAL PULL BOX; PB-6	13	EΑ	\$ 50.00	_	650.00
	LIGHTING STD, SPCL. DESIGN CABLE, TP XHHW, AWG NO 12	25 1600	EA LF	\$ 100.00 \$ 0.20		2,500.00
	CABLE, TP XHHW, AWG NO 12  CABLE, TP XHHW, AWG NO8	8800	LF	\$ 0.20		320.00 880.00
	CABLE, TP XHHW, AWG NO6	400	LF	\$ 0.10	_	40.00
	CABLE, TP AXIIIW, AWG NO0  CABLE, TP HXXW, AWG NO1/0	1200	LF	\$ 0.10		120.00
	CONDUIT, NON-METALLIC, TP 2, 2"	2600	LF	\$ 0.10	_	780.00
	ELECTRICAL POWER SERVICE ASSEMBLY (UNDERGROUND SERVICE	1	EA	\$ 200.00		200.00
				,		200.00

# **REVISED SCHEDULE OF VALUE DEC-2022**

ITEM	DESCRIPTION OF WORK	QUANTITY	UNIT	Ţ	UNIT PRICE		SCHEDULED
NO.							VALUE
4	VEHICULAR DIRECTIONAL SIGNAGE	4	EA	\$	330.00	\$	1,320.00
4	PEDESTRIAN SIGNAGE	2	EA	\$	330.00	\$	660.00
4	PEDESTRIAN DIRECTIONAL SIGNAGE	2	EA	\$	330.00	\$	660.00
	THERMOPLASTIC TRAFFIC DIRECTIONAL ARROW TYPE 1; PER GDOT	1	EA	\$	200.00	\$	200.00
	THERMOPLASTIC TRAFFIC DIRECTIONAL ARROW TYPE 1; PER GDOT	1	EA	\$	200.00	\$	200.00
	THERMOPLASTIC TRAFFIC DIRECTIONAL ARROW TYPE 2; PER GDOT	2	EA	\$	100.00	\$	200.00
	THERMOPLASTIC TRAFFIC DIRECTIONAL ARROW TYPE 3; PER GDOT	4	EA	\$	200.00	\$	800.00
	5" WIDE WHITE THERMOPLASTIC SOLID TRAFFIC STRIPING PER GDOT	2200	LF	\$	1.10	\$	2,420.00
	5" WIDE YELLOW THERMOPLASTIC SOLID TRAFFIC STRIPING PER GDOT	3640	LF	\$	1.10	\$	4,004.00
	TRAFFIC STRIPING PER GDOT	100		\$	13.20	\$	1,320.00
5	8" WIDE WHITE THERMOPLASTIC SOLID TRAFFIC STRIPING PER GDOT	350		\$	3.85	\$	1,347.50
5	GDOT HIGHWAY SIGN; TYPE "1" MATERIAL; REFELCTIVE SHEETING TYPE "3"	100	SF	\$	24.20	\$	2,420.00
5	ORNAMENTAL SIGN POST	9	EA	\$	1,848.00	\$	16,632.00
6	PERMANENT GRASSING	0	SY	\$	2.73	\$	-
	AGRICULTURAL LIME	1		\$	1,056.00	\$	1,056.00
6	PFERTILIZER; NITROGEN RICH	1	TN	\$	1,056.00	\$	1,056.00
6	FERTILIZER; MIXED GRADE LIQUID	50	GL	\$	9.63	\$	481.50
6	4 ACER GINNALA "RED NOVEMBER"	19	EA	\$	784.30	\$	14,901.70
6	5 PRUNUS X INCAMP OKAME	4	EA	\$	621.84	\$	2,487.36
65A	QUERCUS X INCAMP OKAME	2	EA	\$	800.00	\$	1,600.00
6	S LIRIOPE SPICATA	5693	EA	\$	3.86	\$	21,974.98
6	7 RHAPHIOLEPIS X DELACOURIA "GEORGIA WHITE"	19	EA	\$	38.09	\$	723.71
67A	BERMUDA SOD	7325	EA	\$	2.00	\$	14,650.00
6	TREE PROTECTION BARRIER; TYPE "2"	100	LF	\$	7.70	\$	770.00
	PERMANENT MULCH – PINE STRAW	1000	SY	\$	6.09	\$	6,090.00
	PLANT TOPSOIL	15	CY	\$	71.50	\$	1,072.50
7	INSTALLED INCLUDING ANCHORS AND RELATED APPURTENANCES	2	EA	\$	1,991.00	\$	3,982.00
7	POWDER COATED TRASH RECEPTACLES FURNISHED AND INSTALLED INCLUDING ANCHORS AND APPURTENANCES	1	EA	\$	2,002.00	\$	2,002.00
7	OWNER'S CONTINGENCY ALLOWANCE	1	LS	\$	322,429.60		
CO1	CHANGE ORDER #1 : Concrete Curb & Gutter, GDOT 6x24, Type 2	3700		\$	36.50	\$	135,050.00
CO2	CHANGE ORDER #2 : Unsuitable subgrade replacement	1	LS	\$	7,493.40	\$	7,493.40
CO3	CHANGE ORDER #3 : Overall Site Modification per drawing dated 12/8/22	1	LS	\$	177,456.50	\$	177,456.50
	BALANCE REMAINING OF CONTINGENCY ALLOWANCE					\$	2,429.70
	TOTAL ORIGINAL						2,054,493.22
LEGEND					ļ	•	, ,

LEGEND Eliminated/ omitted Items
New Items
Items with revised quantity



January 26, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: <u>Forest Park Downtown Streetscape Project</u>

Subject. Change Proposal #5: Rectangular Rapid Flashing Beacons

Dear Skip,

Per your request to provide proposal to provide and install two flashing beacons for the mid-block crossing at approximate station 16+90 on Main st.

Below is cost proposal for providing labor, material and equipment to .

Item #	Description	Qty	Unit	Unit Price	TOTAL			
1	ECO RECTANGULAR FLASHING BEACON SYSTEM W 20 WATT SOLAR PANEL BATTERY CROSSTALK CONTROL- PUSH BUTTON AND RADIO SYSTEM - MEETS MUTCD SPECS Includes: Complete 15-foot Pole assembly and crossing sign	2	EA	8,680.00	\$17,360.00			
				Subtotal	\$17,360.00			
	O&P (15%)							
				TOTAL	\$19,964.00			

We appreciate your prompt approval of this Change proposal

Sincerely Yours,

Sintayehu Areda

Encl: Submittal Spec sheet



# SLI-Eco-RRFB (Rectangular Rapid Flash Beacon)

Solar Lighting International's' Rectangular Rapid Flash Beacon (RRFB) is a device using LED flashing beacons in combination with pedestrian warning signs, to provide a high-visibility strobe-like warning to drivers when pedestrians use a crosswalk. In general, RRFBs are a visual cue that pedestrians may begin crossing the roadway at any time. They are always accompanied by crosswalk markings and signs. Crosswalk RRFBs operate by wireless push button activation. When a pedestrian pushes the button to cross the street, the sign is activated and begins to flash

to warn drivers of the crossing pedestrians. The flashing pattern can be activated with pushbuttons or automated (e.g., video or infrared) pedestrian detection.

## **Push Button Assembly:**

- ▶ 2" Button with momentary switch rated at 36VDC
- ▶ 5" x 7" button fixture with crossing sign inserted

## **Potential Benefits:\***

- ▶ RRFBs are a lower cost alternative to traffic signals
- ▶ An official FHWA-sponsored experimental implementation and evaluation conducted in St. Petersburg, Florida found that RRFBs at pedestrian crosswalks are dramatically more effective at increasing driver yielding rates to pedestrians than traditional overhead beacons.
- ▶ RRFBs stutter flash may elicit a greater response from drivers than traditional methods.

<sup>\*</sup>https://safety.fhwa.dot.gov/intersection/conventional/unsignalized/tech\_sum/fhwasa09009/







# **CrossTalk**

Solar Lighting Internaitonal's' CrossTalk device is a compact, all-in-one solar controller, flasher, autodimmer and scheduler that is programmed using CrossLink or cellular service. The CrossTalk is located inside the control cabinet. CrossTalk can be used from a central office to control a single sign or multiple signs at multiple locations by programming through the web interface.

# **CrossTalk** Activation

CrossTalk for pedestrian street crossings where people need to cross safely. Pedestrians simply press the button to activate the CrossTalk device located inside the control cabinet. The CrossTalk wirelessly activates the sign alert LEDs on both sides for the programmed amount of time.



# Model SLI-Eco-RRFB Specifications Rectangular Rapid Flashing Beacon Push Button/Crosswalk (Meets MUTCD&ITE Standards)

Solar Panel	Maximum Power	(P max)	20W				
	Voltage at Pmax	(V mp)	17.3 V				
	Current at Pmax	(IMP)	1.16 A				
	Short-Circuit Current	(Isc)	1.29 A				
	Open-Circuit Voltage						
Control Cabinet	7.5" x 11.25" x 4"	aluminum	located below solar panel				
Battery	(1)	18 amp	included				
Push Button	2" Button with moment	tary switches rated	at 36VDC				
	5" x 7" Button fixture wi	th crossing sign in	serted				
Optional	Additional RRFB with m	nounting hardware					
	Pole with mounting ha	rdware					
	Pedestrian Sign						
	Left Down Arrow Sign						
	Right Down Arrow Sign						
RRFB	Lighting Meets J595 for	r Class 1					





March 8, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: <u>Forest Park Downtown Streetscape Project</u>

Subject. Change Proposal #6: Concrete Steps at 917 Main Street

Dear Skip,

Because of the elevation difference between the proposed sidewalk and the walkway in the building at 917 Main Street, it is necessary to build steps. Below is a proposal to install concrete steps. Please see attached picture for information.

The cost below includes Material, labor and equipment necessary to build the item specified.

Item #	Description	Qty Unit Unit Price						
1	Minimum of 2 concrete steps and landing, to connect proposed sidewalk with walkway at 917 Main St <i>(See attached detail breakdown)</i>	\$2,850.00						
				Subtotal	\$2,850.00			
				O&P (15%)	\$427.50			
	TOTAL S							

We appreciate your prompt approval of this Change proposal.

Sincerely Yours.

Sintayehu Areda

Encl: Detail breakdown

Pictures

#### DETAIL BREAKDOWN - CONCRETE STEPS

				LAI	BOR	MAT	ERIAL	EQUIPMENT		SUBCON'	TRACTOR	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE (per HR)		UNIT PRICE	SUB- TOTAL	UNIT PRICE	SUB- TOTAL	UNIT PRICE	SUB- TOTAL	TOTAL
1 CONCRETE STEPS AT 917 MAIN ST												
1	Ready Mix Concrete - 3000 PSI	CY	3.00		\$0.00	\$190.00	\$570.00		\$0.00		\$0.00	\$570.00
	Subcontractor LABOR price (Handy Brothers) for form and pour	LS	1.00		\$0.00		\$0.00		\$0.00	\$1,200.00	\$1,200.00	\$1,200.00
3	Traffic control- flaggers (DAY RATE)	EA	2.00		\$0.00		\$0.00		\$0.00	\$200.00	\$400.00	\$400.00
4	Remove, grade and prepare area	LS	1.00	\$300.00	\$300.00		\$0.00	\$380.00	\$380.00		\$0.00	\$680.00
5					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
6					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
7					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
			SUBTOTALS		\$300.00		\$570.00		\$380.00		\$1,600.00	\$2,850.00
										TO	TAL	\$2,850.00



March 8, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: Forest Park Downtown Streetscape Project

Subject. Change Proposal #7 rev: Installation and removal of temporary work around existing

poles

Dear Skip,

As we have previously discussed on site, we are requested to install temporary work around existing poles which are to be removed but are still on our way. To give continuity of pedestrian access we are installing temporary work around the poles.

The cost below includes Material, labor and equipment necessary to construct and remove the temporary work.

Item #	Description	Qty	Unit	Unit Price	TOTAL
1	Install and remove temporary work around poles to give access to pedestrians (see attached breakdown)			\$1,750.00	\$15,750.00
	\$15,750.00				
	\$2,362.50				
	\$18,112.50				

We appreciate your prompt approval of this Change proposal.

Sincerely Yours,

Sintayehu Areda

Encl: Breakdown of costs

#### DETAIL BREAKDOWN - TEMPORARY WORK PER POLE LOCATION

				LAI	BOR	MAT	ERIAL	EQUI	PMENT	SUBCON	ΓRACTOR	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE (per HR)	SUB- TOTAL	UNIT PRICE	SUB- TOTAL	UNIT PRICE	SUB- TOTAL	UNIT PRICE	SUB- TOTAL	TOTAL
1 Temporary construction and removal around poles - PER POLE - Average area = 10'x6'												
	Temporary work			\$240.00	4		****		****		***	<b>+=</b> 00.00
1	Temporary work	LS	1.00	\$240.00	\$240.00	\$350.00	\$350.00	\$200.00	\$200.00		\$0.00	\$790.00
2	Remove temporary construction	LS	1.00	\$240.00	\$240.00		\$0.00	\$300.00	\$300.00		\$0.00	\$540.00
	Haul of and dispose removed material	LS	1.00		\$0.00		\$0.00		\$0.00	\$420.00	\$420.00	\$420.00
4					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
5					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
6					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
7					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
-												
			SUBTOTALS		\$480.00		\$350.00		\$500.00		\$420.00	\$1,750.00
										ТО	TAL	\$1,750.00



April 15, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: <u>Forest Park Downtown Streetscape Project</u>

Subject. Change Proposal #9 New fence and other miscellaneous changed per rev 3-31-23

Dear Skip,

As per your request, we hereby submit cost proposal for the proposed new fence, additional drainage line and structure as well as other miscellaneous changes per drawing revision dated 3-31-23.

The cost below includes Material, labor, and equipment necessary to complete the proposed task.

Item #	Description	Qty	Unit	Unit Price	TOTAL
1	Remove Existing fence	800	LF	\$5.00	\$4,000.00
2	Install New Ornamental Fence, including end panels	800	LF	\$45.00	\$36,000.00
3	Install new 1019 Inlet	1	EA	\$4,600.00	\$4,600.00
4	Supply and Install 12" HDPE Pipe	1	LS	\$6,600.00	\$6,600.00
5	Core and connect storm line to existing structure	1	LS	\$850.00	\$850.00
6	Remove tree and items required for Ga power pole at NW 1 LS \$1,1 corner of intersection		\$1,100.00	\$1,100.00	
	\$53,150.00				
	\$7,972.50				
	\$61,122.50				

We appreciate your prompt approval of this Change proposal.

We would like to request 30 days of time extension as a result of the various changes in this proposal.

Sincerely Yours,

Sintayehu Areda



May 4, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: Forest Park Downtown Streetscape Project

Subject. Change Proposal #9: Installation of Loop Detectors at Main St & Philips Dr

Dear Skip,

As per your request, we hereby submit cost proposal for the installation of 4 each 4x4 loop detectors at the intersection of Main St and Philips Dr and 1 Each 6x6 approach loop on Main St.

The cost below includes Material, labor, and equipment necessary to complete the proposed task.

Item #	Description	Qty	Unit	Unit Price	TOTAL
1	Install 6x40' detection loops	4	EA	\$2,600	\$10,400.00
2	Install 6x0' detection loops	1	EA	\$1,750	\$1,750.00
	\$12,150.00				
	\$1,822.50				
TOTAL of OPTION 3					\$13,972.50

We appreciate your prompt approval of this Change proposal.

Sintayehu Areda

Encl: Material Data sheet submittal (13 pages)



▲ STAT-A-FLEX® sealants are easily applied, cure quickly and produce a tough weather and chemical resistant seal.

- ▲ STAT-A-FLEX® is approved for use by Federal and most State Departments of Transportation for public roadway applications across the country and in U.S. territories.
- ▲ STAT-A-FLEX® is approved for use by the Federal Aviation Administration (FAA) to encapsulate and protect signal wire and electrical lighting devices on airport runways.
- ▲ Contact Durant Performance Coatings today to find the right STAT-A-FLEX® solution for you.

# **STAT-A-FLEX®**Signal Wire Sealants



DURANT PERFORMANCE COATINGS 112 Railroad Street • Revere, MA 02151 Phone 800.420.0021 • Fax 781.289.1405 www.durantcorp.com



The Choice of Contractors and Municipalities for

# IMSA and Transportation Wire & Cable



### Wire & Cable Products

- 19-1, 20-1 Solid or Stranded
- 19-3, 20-3, 40-2, 20-6, 19-2
- 50-1, 50-2, 50-3 Loop Lead-In Cable
- 51-3, 51-5, 51-7 Loop Detector Cable
- Airport Lighting Cable (600V/5kV)
- Camera Cable
- Direct Bury and Overhead Rated Distribution (Copper and Aluminum)
- Fiber Optic Cable / OSP Cable
- Figure Eight Constructions
- Galvanized Steel Strand (Guy or Span Wire)
- Innerduct / Cable-In-Duct
- Loop Sealant
- Medium Voltage Power Cable –
   Copper and Aluminum (2.5kV-69kV)
- MetroPlex® Twisted Conductors Pulled as a Single Cable
- Paper Insulated Lead Cable (PILC)
- Self-Supporting Aerial Cable –
   Copper and Aluminum (600V-15kV)
- THHN, XHHW, XLP/USE, EPR/CPE-USE (600V-2kV)

# **Specialized Services**

- 24/7/365 Service
- Blanket Ordering and Project Pricing
- Cable Audits
- Certified Test Reports / Certificates of Compliance
- Custom Manufactured Cable –
   Short Minimum Runs and Lead Times
- Custom Packaging and Product Enhancements (Striping, Printing, and Dying)
- Cut-To-Length Service
- Engineering Support (Applications, Design, Certifications, Cut Sheets)
- Inventory Management Programs (VMI)
- Long-Length Reels
- MetroSpin® Single Compartment Reels
- · Paralleling, Triplexing, and Twisting
- Personalized Sales Service
- Reel Tagging for Projects



(800) 633.1432

www.metrowire.net metro@metrowire.net



SDS Revision Date: 05/20/2015-Q

#### 1. Identification

1.1. Product identifier

Product Identity Stat-A-Flex Signal Wire Sealant

Alternate Names Stat-A-Flex

1.2. Relevant identified uses of the substance or mixture and uses advised against

Intended useSee Technical Data Sheet.Application MethodSee Technical Data Sheet.

1.3. Details of the supplier of the safety data sheet

Company Name Durant Performance Coatings, Inc.

112 Railroad St., Revere, MA 02151

**Emergency** 

CHEMTREC (USA) (800) 424-9300 Customer Service: Durant Performance Coatings, Inc. (800) 420-0021

# 2. Hazard(s) identification

#### 2.1. Classification of the substance or mixture

Flam. Liq. 3;H226 Flammable liquid and vapor.

Acute Tox. 4;H332 Harmful if inhaled.
Skin Irrit. 2;H315 Causes skin irritation.

Eye Irrit. 2;H319 Causes serious eye irritation.

Skin Sens. 1;H317 May cause an allergic skin reaction.

#### 2.2. Label elements

Using the Toxicity Data listed in section 11 and 12 the product is labeled as follows.





SDS Revision Date: 05/20/2015-Q

H226 Flammable liquid and vapor.

H315 Causes skin irritation.

H317 May cause an allergic skin reaction.

H319 Causes serious eye irritation.

H332 Harmful if inhaled.

#### [Prevention]:

P201 Obtain special instructions before use.

P202 Do not handle until all safety precautions have been read and understood.

P210 Keep away from heat / sparks / open flames / hot surfaces - No smoking.

P235 Keep cool.

P240 Ground / bond container and receiving equipment.

P241 Use explosion-proof electrical / ventilating / light / equipment.

P242 Use only non-sparking tools.

P243 Take precautionary measures against static discharge.

P261 Avoid breathing dust / fume / gas / mist / vapors / spray.

P264 Wash thoroughly after handling.

P271 Use only outdoors or in a well-ventilated area.

P272 Contaminated work clothing should not be allowed out of the workplace.

P280 Wear protective gloves / eye protection / face protection.

#### [Response]:

P302+352 IF ON SKIN: Wash with plenty of soap and water.

P303+361+353 IF ON SKIN (or hair): Remove / Take off immediately all contaminated clothing. Rinse skin with water / shower.

P304+312 IF INHALED: Call a POISON CENTER or doctor / physician if you feel unwell.

P305+351+338 IF IN EYES: Rinse continuously with water for several minutes. Remove contact lenses if present and easy to do - continue rinsing.

P308+313 IF exposed or concerned: Get medical advice / attention.

P321 Specific treatment (see information on this label).

P333+313 If skin irritation or a rash occurs: Get medical advice / attention.

P337+313 If eye irritation persists: Get medical advice / attention.

P340 Remove victim to fresh air and keep at rest in a position comfortable for breathing.

P362 Take off contaminated clothing and wash before reuse.

P363 Wash contaminated clothing before reuse.

P370+378 In case of fire: Use extinguishing media listed in section 5 of SDS for extinction.

#### [Storage]:

P403+233 Store in a well-ventilated place. Keep container tightly closed.

P405 Store locked up.



SDS Revision Date: 05/20/2015-Q

#### [Disposal]:

P501 Dispose of contents / container in accordance with local / national regulations.

# 3. Composition/information on ingredients

This product contains the following substances that present a hazard within the meaning of the relevant State and Federal Hazardous Substances regulations.

Ingredient/Chemical Designations	Weight %	GHS Classification	Notes
Styrene CAS Number: 0000100-42-5	10 - 25	Flam. Liq. 3;H226 Acute Tox. 4;H332 Skin Irrit. 2;H315 Eye Irrit. 2;H319	[1][2]
Calcium carbonate CAS Number: 0001317-65-3	10 - 25	Not Classified	[1][2]
Talc (Mg3H2(SiO3)4) CAS Number: 0014807-96-6	10 - 25	Not Classified	[1][2]
Glass oxide, glass CAS Number: 0065997-17-3	1.0 - 10	Eye Irrit. 2;H319	[1]
Mullite CAS Number: 0001302-93-8	1.0 - 10	not classified	[1]
Pentanedioic acid, dimethyl ester CAS Number: 0001119-40-0	1.0 - 10	Not Classified	[1]
Cobalt 2-Ethyl Hexanoate CAS Number: 0000136-52-7	0.10 - 1.0	Acute Tox. 4;H302 Skin Irrit. 2;H315 Skin Sens. 1;H317 Aquatic Chronic 2;H411	[1]

<sup>[1]</sup> Substance classified with a health or environmental hazard.

#### 4. First aid measures

#### 4.1. Description of first aid measures

**General** In all cases of doubt, or when symptoms persist, seek medical attention.

Never give anything by mouth to an unconscious person.

**Inhalation** Remove to fresh air, keep patient warm and at rest. If breathing is irregular or stopped, give

artificial respiration. If unconscious place in the recovery position and obtain immediate

medical attention. Give nothing by mouth.

Eyes Irrigate copiously with clean water for at least 15 minutes, holding the eyelids apart and

seek medical attention.

**Skin** Remove contaminated clothing. Wash skin thoroughly with soap and water or use a

recognized skin cleanser.

**Ingestion** If swallowed obtain immediate medical attention. Keep at rest. Do NOT induce vomiting.

<sup>[2]</sup> Substance with a workplace exposure limit.

<sup>\*</sup>The full texts of the phrases are shown in Section 16.



SDS Revision Date: 05/20/2015-Q

#### 4.2. Most important symptoms and effects, both acute and delayed

**Overview** No specific symptom data available.

Possible cancer hazard. Contains an ingredient which may cause cancer based on animal data (See Section 3 and Section 15 for each ingredient). Risk of cancer depends on

duration and level of exposure. See section 2 for further details.

**Inhalation** Harmful if inhaled.

**Eyes** Causes serious eye irritation.

**Skin** May cause an allergic skin reaction. Causes skin irritation.

# 5. Fire-fighting measures

#### 5.1. Extinguishing media

Recommended extinguishing media; alcohol resistant foam,  $CO_2$ , powder, water spray.

Do not use: water jet.

#### 5.2. Special hazards arising from the substance or mixture

Hazardous decomposition: No hazardous decomposition data available.

Keep away from heat / sparks / open flames / hot surfaces - No smoking.

Keep cool.

Ground / bond container and receiving equipment.

Use explosion-proof electrical / ventilating / light / equipment.

Use only non-sparking tools.

Take precautionary measures against static discharge.

Avoid breathing dust / fume / gas / mist / vapors / spray.

#### 5.3. Advice for fire-fighters

None

ERG Guide No. 127

#### 6. Accidental release measures

#### 6.1. Personal precautions, protective equipment and emergency procedures

Put on appropriate personal protective equipment (see section 8).

#### 6.2. Environmental precautions

Do not allow spills to enter drains or waterways.

Use good personal hygiene practices. Wash hands before eating, drinking, smoking or using toilet. Promptly remove soiled clothing and wash thoroughly before reuse.

#### 6.3. Methods and material for containment and cleaning up



SDS Revision Date: 05/20/2015-Q

Ventilate the area and avoid breathing vapors. Take the personal protective measures listed in section 8.

Contain and absorb spillage with non-combustible materials e.g. sand, earth, vermiculite. Place in closed containers outside buildings and dispose of according to the Waste Regulations. (See section 13).

Clean, preferably with a detergent. Do not use solvents.

Do not allow spills to enter drains or watercourses.

If drains, sewers, streams or lakes are contaminated, inform the local water company immediately. In the case of contamination of rivers, streams or lakes the Environmental Protection Agency should also be informed.

# 7. Handling and storage

#### 7.1. Precautions for safe handling

The requirements of the Highly Flammable Liquids and Liquefied Petroleum Gases Regulations apply if the flashpoint is between 21°C and 32°C.

See section 2 for further details. - [Prevention]:

#### 7.2. Conditions for safe storage, including any incompatibilities

Handle containers carefully to prevent damage and spillage.

Naked flames and smoking should not be permitted in storage areas. It is recommended that fork lift trucks and electrical equipment are protected to the appropriate standard.

Incompatible materials: No data available.

See section 2 for further details. - [Storage]:

#### 7.3. Specific end use(s)

No data available.

# 8. Exposure controls and personal protection

#### 8.1. Control parameters

#### **Exposure**

CAS No.	Ingredient	Source	Value
0000100-42-5	Styrene	OSHA	TWA 100 ppm C 200 ppm 600 ppm (5-minute maximum peak in any 3 hours)
		ACGIH	TWA: 50 ppm STEL: 75 ppm 2B
		NIOSH	TWA 50 ppm (215 mg/m3) ST 100 ppm (425 mg/m3)
0000136-52-7	Cobalt 2-Ethyl Hexanoate	OSHA	PEL 0.1 mg/m3
		ACGIH	TLV 0.02 mg/m3
0001317-65-3	Calcium carbonate	OSHA	TWA 15 mg/m3 (total) TWA 5 mg/m3 (resp)
		ACGIH	TWA: 10 mg/m3 Ceiling: 20 mg/m3
		NIOSH	TWA 10 mg/m3 (total) TWA 5 mg/m3 (resp)
0014807-96-6	Talc (Mg3H2(SiO3)4)	OSHA	TWA 20 mppcf
		ACGIH	Containing asbestos fibres TWA: 0.1 f/cc (K) A1, 1Containing no asbestos fibres TWA:2 mg/m3 (E) (respirable)



SDS Revision Date: 05/20/2015-Q

		NIOSH	TWA 2 mg/m3 (resp)
0065997-17-3	Glass oxide, glass	OSHA	15 mg/m3 (as nuisance dust)5 mg/m3 (respirable fraction)
		ACGIH	10 mg/m3 (as nuisance dust)5 mg/m3 (respirable fraction)

#### Carcinogen Data

CAS No.	Ingredient	Source	Value			
0000100-42-5	Styrene	OSHA Select Carcinogen: No				
		NTP	NTP Known: No; Suspected: Yes			
		IARC	Group 1: No; Group 2a: No; Group 2b: Yes; Group 3: No; Group 4: No;			
0014807-96-6	TALC (Mg3H2(SiO3)4)	OSHA	Select Carcinogen: No			
		NTP	Known: No; Suspected: No			
	Group 1: No; Group 2a: No; Group 2b: Yes; Group 3: No; Group 4: No;					

#### 8.2. Exposure controls

**Respiratory** If workers are exposed to concentrations above the exposure limit they must use the

appropriate, certified respirators.

**Eyes** Protective safety glasses recommended

**Skin** Wear overalls to keep skin contact to a minimum.

**Engineering Controls** Provide adequate ventilation. Where reasonably practicable this should be achieved by the

use of local exhaust ventilation and good general extraction. If these are not sufficient to maintain concentrations of particulates and any vapor below occupational exposure limits

suitable respiratory protection must be worn.

using toilet. Promptly remove soiled clothing and wash thoroughly before reuse.

See section 2 for further details. - [Prevention]:

# 9. Physical and chemical properties

Appearance Dark Gray Liquid
Odor Pungent Styrene
Odor threshold Not Measured
PH Not Measured
Melting point / freezing point Not Measured

Initial boiling point and boiling range 293°F
Flash Point 88°F

Evaporation rate (Ether = 1) Slower than Ether Flammability (solid, gas) Not Applicable

Upper/lower flammability or explosive limits Lower Explosive Limit: Not Measured

**Upper Explosive Limit:** Not Measured



SDS Revision Date: 05/20/2015-Q

Vapor pressure (Pa)Not MeasuredVapor DensityHeavier than Air

Specific Gravity 1.2

Solubility in Water
Partition coefficient n-octanol/water (Log Kow)
Auto-ignition temperature
Decomposition temperature
Viscosity (cSt)
Negligible
Not Measured
Not Measured
See Data Sheet

VOC Content 250 g/L

9.2. Other information

No other relevant information.

# 10. Stability and reactivity

#### 10.1. Reactivity

Hazardous Polymerization will not occur.

#### 10.2. Chemical stability

Stable under normal circumstances.

#### 10.3. Possibility of hazardous reactions

No data available.

#### 10.4. Conditions to avoid

No data available.

#### 10.5. Incompatible materials

No data available.

#### 10.6. Hazardous decomposition products

No hazardous decomposition data available.

# 11. Toxicological information

#### **Acute toxicity**

Ingredient	Oral LD50, mg/kg	Skin LD50, mg/kg	Inhalation Vapor LD50, mg/L/4hr	Inhalation Dust/Mist LD50, mg/L/4hr	Inhalation Gas LD50, ppm
Styrene - (100-42-5)	2,650.00, Rat - Category: 5	No data available	12.00, Rat - Category: 4	No data available	No data available
Pentanedioic acid, dimethyl ester - (1119-40-0)	8,191.00, Rat - Category: NA	3,400.00, Rabbit - Category: 5	No data available	No data available	No data available
Cobalt 2-Ethyl Hexanoate - (136-52-7)	1,220.00, Rabbit - Category: 4	5,000.00, Rat - Category: 5	No data available	No data available	No data available



SDS Revision Date: 05/20/2015-Q

Note: When no route specific LD50 data is available for an acute toxin, the converted acute toxicity point estimate was used in the calculation of the product's ATE (Acute Toxicity Estimate).

Classification	Category	Hazard Description
Acute toxicity (oral)		Not Applicable
Acute toxicity (dermal)		Not Applicable
Acute toxicity (inhalation)	4	Harmful if inhaled.
Skin corrosion/irritation	2	Causes skin irritation.
Serious eye damage/irritation	2	Causes serious eye irritation.
Respiratory sensitization		Not Applicable
Skin sensitization	1	May cause an allergic skin reaction.
Germ cell mutagenicity		Not Applicable
Carcinogenicity		Not Applicable
Reproductive toxicity		Not Applicable
STOT-single exposure		Not Applicable
STOT-repeated exposure		Not Applicable
Aspiration hazard		Not Applicable

# 12. Ecological information

#### 12.1. Toxicity

Harmful to aquatic life.

#### **Aquatic Ecotoxicity**

Ingredient	96 hr LC50 fish, mg/l	48 hr EC50 crustacea, mg/l	ErC50 algae, mg/l
Styrene - (100-42-5)	4.08, Pimephales promelas	4.70, Daphnia magna	0.00 (96 hr),
Pentanedioic acid, dimethyl ester - (1119-40-0)	19.60, Pimephales promelas	122.10, Daphnia magna	Not Available

#### 12.2. Persistence and degradability

There is no data available on the preparation itself.

#### 12.3. Bioaccumulative potential

Not Measured

#### 12.4. Mobility in soil



SDS Revision Date: 05/20/2015-Q

No data available.

#### 12.5. Results of PBT and vPvB assessment

This product contains no PBT/vPvB chemicals.

#### 12.6. Other adverse effects

No data available.

# 13. Disposal considerations

#### 13.1. Waste treatment methods

Observe all federal, state and local regulations when disposing of this substance.

## 14. Transport information

**DOT (Domestic Surface** ICAO/IATA IMO / IMDG (Ocean

Transportation) **Transportation**)

14.1. UN number UN1866 UN1866 UN1866

14.2. UN proper shipping UN1866, Resin solution, Resin solution, flammable Resin solution, name

flammable, 3, III flammable

14.3. Transport hazard **DOT Hazard Class: 3 IMDG:** Not Applicable Air Class: Not Applicable

class(es) Sub Class: Not Applicable 14.4. Packing group Ш Ш

14.5. Environmental hazards

**IMDG** Marine Pollutant: No

14.6. Special precautions for user

No further information

## 15. Regulatory Information

Regulatory Overview The regulatory data in Section 15 is not intended to be all-inclusive, only selected

regulations are represented.

**Toxic Substance** All components of this material are either listed or exempt from listing on the TSCA

Control Act (TSCA) Inventory. WHMIS Classification B2 D2A

**US EPA Tier II Hazards** Fire: Yes

Sudden Release of Pressure: No

Reactive: No.

Immediate (Acute): Yes Delayed (Chronic): Yes



SDS Revision Date: 05/20/2015-Q

#### EPCRA 311/312 Chemicals and RQs (lbs):

Styrene (1,000.00)

#### **EPCRA 302 Extremely Hazardous:**

To the best of our knowledge, there are no chemicals at levels which require reporting under this statute.

#### **EPCRA 313 Toxic Chemicals:**

Cobalt 2-Ethyl Hexanoate

Styrene

#### Proposition 65 - Carcinogens (>0.0%):

Benzene

Talc (Mg3H2(SiO3)4)

#### Proposition 65 - Developmental Toxins (>0.0%):

Benzene

Toluene

#### **Proposition 65 - Female Repro Toxins (>0.0%):**

To the best of our knowledge, there are no chemicals at levels which require reporting under this statute.

#### **Proposition 65 - Male Repro Toxins (>0.0%):**

Benzene

#### New Jersey RTK Substances (>1%):

Calcium carbonate

Styrene

Talc (Mg3H2(SiO3)4)

#### Pennsylvania RTK Substances (>1%):

Calcium carbonate

Styrene

Talc (Mg3H2(SiO3)4)

HMIS RATING: Health: 2 Flammability: 3 Reactivity: 0 Protective Equip: G

#### 16. Other information

The information and recommendations contained herein are based upon data believed to be correct. However, no guarantee or warranty of any kind, expressed or implied, is made with respect to the information contained herein. We accept no responsibility and disclaim all liability for any harmful effects which may be caused by exposure to our products. Customers/users of this product must comply with all applicable health and safety laws, regulations, and orders.

The full text of the phrases appearing in section 3 are:

H301 Toxic if swallowed.

H302 Harmful if swallowed.

H311 Toxic in contact with skin.



SDS Revision Date: 05/20/2015-Q

H331 Toxic if inhaled.

H411 Toxic to aquatic life with long lasting effects.

# This is the first version in the GHS SDS format. Listings of changes from previous versions in other formats are not applicable.

This Safety Data Sheet was prepared using information provided by/obtained from the Durant Performance Coatings, Inc. The information in the Safety Data Sheet is offered for your consideration and guidance when exposed to the product. Durant Performance Coatings, Inc. expressly disclaims all expressed or implied warranty and assumes no responsibilities for the accuracy or completeness of the data contained herein. The data in this SDS does not apply to use with any other product or in any other processes as to the accuracy of and/or sufficiency of such information. This Safety Data Sheet may not be changed or altered in any way without the expressed knowledge and permission of Durant Performance Coatings, Inc.

**End of Document** 



June 05, 2023

Skip Layton Falcon Design Consultants, LLC 235 Corporate Center Dr, Ste 200 Stockbridge, GA 30281

Re: <u>Forest Park Downtown Streetscape Project</u>

Subject. Change Proposal #10: Ground Cover on Philips Dr. and Pruning Trees

Dear Skip,

During our site visit and email communication dated May 19, 2023, you requested us to cover the slope adjacent to the cemetery with "Green Mound Juniper" or "Blue Rug Juniper". Accordingly, BRTU Construction is hereby proposing cost for covering the ground and pruning the trees.

Our cost proposal below includes Material, Labor, Equipment, and all necessary supervision to complete the activities listed.

Item #	Description	Qty	Unit	Unit Price	TOTAL	
1	Green Mound Juniper	95	EA	\$ 96.00	\$ 9,120.00	
2	Tree Pruning	18	EA	\$ 222.25	\$ 4,000.50	
Subtotal						
O&P (15%)						
TOTAL					\$ 15,088.58	

The Extra work may add up-to 5 additional days which we may be entitled to request time extension for if necessary.

I appreciate your prompt approval.

Sincerely Yours,

Sintayehu Areda President



Project:

Change Order No.: 002

RM Concrete Specialist LLC, 5151 Brook Hollow Parkway, Suite 140, Norcross, GA 30071 Ph: 678-777-7263 - Fx: 770-559-5224 email: info@rmconcretespecialist.com

Forest Park Downtown Ph 2A

Date: 5/31/2023

Location:	963 Main St, Forest Park, GA 30297					
То:	BRTU Construction, Inc.					
Attention:	Sintayehu Areda					
GENERAL CONDITIONS						
Qty	Description	Units		nit Price		Amount
95	GREEN MOUND JUNIPER	EA	\$	96.00	\$	9,120.00
18	TREE PRUNING	EA	\$	222.25	\$	4,000.50
				TOTAL	\$	13,120.50
T 10 1111						
Terms and Conditions:						
	ctor agrees to furnish all labor, services, installation, insurance, equi re in a professional and workmanlike manner.	pment, tools and othe	r facilities re	equired for the pro	mpt and e	efficient execution
	e in a professional and workmanike manner.					
Exclusions:  * Permits						
	and and					
* Utility adjustments if re * Surveying	equirea					
* Testing						
* Erosion Control						
* Mulch						
* Mass Grading						
* Graded Aggregate Base						
* Traffic Control						
Trainic Control						
	. Owner agrees to pay Contractor for the strict performance of his word be subsequently agreed upon.	ork, the sum as indicat	ed above s	ubject to additions	and dedu	ctions for changes
3. Payment Schedule. Ov	vner agrees to pay every 15 days work Completed.					
4. Change order is for lab	oor work and material.					
The parties here to have	executed this Agreement for themselves, their heirs, executors, succ	essors, administrators	, and assig	nees on the day an	d year wr	itten below.
Raul Mejia		Owner:				
RM Concrete Specialist	•	Jc				
Dete: 0F/21/2022		D-t				
Date: 05/31/2023	=	Date:				